
[root@linuxhost1 ~]# ifconfig -a 
;vdsmdummy;: flags=4098<BROADCAST,MULTICAST>  mtu 1500 
        ether 4a:15:89:62:1f:b0  txqueuelen 0  (Ethernet) 
        RX packets 0  bytes 0 (0.0 B) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 0  bytes 0 (0.0 B) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
 
bond0: flags=5187<UP,BROADCAST,RUNNING,MASTER,MULTICAST>  mtu 1500 
        inet6 fe80::ec4:7aff:fe31:59c8  prefixlen 64  scopeid 0x20<link> 
        ether 0c:c4:7a:31:59:c8  txqueuelen 0  (Ethernet) 
        RX packets 1076509  bytes 710188860 (677.2 MiB) 
        RX errors 0  dropped 1778  overruns 0  frame 0 
        TX packets 662931  bytes 339395024 (323.6 MiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
 
bond0.16: flags=4163<UP,BROADCAST,RUNNING,MULTICAST>  mtu 1500 
        inet6 fe80::ec4:7aff:fe31:59c8  prefixlen 64  scopeid 0x20<link> 
        ether 0c:c4:7a:31:59:c8  txqueuelen 0  (Ethernet) 
        RX packets 32061  bytes 1899964 (1.8 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 39  bytes 5033 (4.9 KiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
 
bondC: flags=5187<UP,BROADCAST,RUNNING,MASTER,MULTICAST>  mtu 9000 
        inet6 fe80::ec4:7aff:fe31:59ca  prefixlen 64  scopeid 0x20<link> 
        ether 0c:c4:7a:31:59:ca  txqueuelen 0  (Ethernet) 
        RX packets 926907  bytes 184673074 (176.1 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 1952540  bytes 13781898074 (12.8 GiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
 
br0.16: flags=4163<UP,BROADCAST,RUNNING,MULTICAST>  mtu 1500 
        inet 192.168.16.30  netmask 255.255.255.0  broadcast 192.168.16.255 
        inet6 fe80::ec4:7aff:fe31:59c8  prefixlen 64  scopeid 0x20<link> 
        ether 0c:c4:7a:31:59:c8  txqueuelen 0  (Ethernet) 
        RX packets 32061  bytes 1899964 (1.8 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 29  bytes 4205 (4.1 KiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
 
brC: flags=4163<UP,BROADCAST,RUNNING,MULTICAST>  mtu 9000 
        inet 192.168.25.30  netmask 255.255.255.0  broadcast 192.168.25.255 
        inet6 fe80::ec4:7aff:fe31:59ca  prefixlen 64  scopeid 0x20<link> 
        ether 0c:c4:7a:31:59:ca  txqueuelen 0  (Ethernet) 
        RX packets 926906  bytes 171696330 (163.7 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 900422  bytes 13712458118 (12.7 GiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
 
enp0s20f0: flags=6211<UP,BROADCAST,RUNNING,SLAVE,MULTICAST>  mtu 1500 
        ether 0c:c4:7a:31:59:c8  txqueuelen 1000  (Ethernet) 
        RX packets 546442  bytes 668307781 (637.3 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 662931  bytes 339395024 (323.6 MiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
        device memory 0xdf260000-df280000   
 
 
 



enp0s20f1: flags=6211<UP,BROADCAST,RUNNING,SLAVE,MULTICAST>  mtu 1500 
        ether 0c:c4:7a:31:59:c8  txqueuelen 1000  (Ethernet) 
        RX packets 530067  bytes 41881079 (39.9 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 0  bytes 0 (0.0 B) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
        device memory 0xdf240000-df260000   
 
enp0s20f2: flags=6211<UP,BROADCAST,RUNNING,SLAVE,MULTICAST>  mtu 9000 
        ether 0c:c4:7a:31:59:ca  txqueuelen 1000  (Ethernet) 
        RX packets 926907  bytes 184673074 (176.1 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 1952540  bytes 13781898074 (12.8 GiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
        device memory 0xdf220000-df240000   
 
enp0s20f3: flags=6147<UP,BROADCAST,SLAVE,MULTICAST>  mtu 9000 
        ether 0c:c4:7a:31:59:ca  txqueuelen 1000  (Ethernet) 
        RX packets 0  bytes 0 (0.0 B) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 0  bytes 0 (0.0 B) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
        device memory 0xdf200000-df220000   
 
lo: flags=73<UP,LOOPBACK,RUNNING>  mtu 65536 
        inet 127.0.0.1  netmask 255.0.0.0 
        inet6 ::1  prefixlen 128  scopeid 0x10<host> 
        loop  txqueuelen 0  (Lokale Schleife) 
        RX packets 3654076  bytes 38844757720 (36.1 GiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 3654076  bytes 38844757720 (36.1 GiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
 
ovirtmgmt: flags=4163<UP,BROADCAST,RUNNING,MULTICAST>  mtu 1500 
        inet 192.168.12.30  netmask 255.255.255.0  broadcast 192.168.12.255 
        inet6 fe80::ec4:7aff:fe31:59c8  prefixlen 64  scopeid 0x20<link> 
        ether 0c:c4:7a:31:59:c8  txqueuelen 0  (Ethernet) 
        RX packets 569135  bytes 41398855 (39.4 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 411819  bytes 278019615 (265.1 MiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 
 
vnet0: flags=4163<UP,BROADCAST,RUNNING,MULTICAST>  mtu 1500 
        inet6 fe80::fc16:3eff:fe53:9c59  prefixlen 64  scopeid 0x20<link> 
        ether fe:16:3e:53:9c:59  txqueuelen 500  (Ethernet) 
        RX packets 19966  bytes 17958878 (17.1 MiB) 
        RX errors 0  dropped 0  overruns 0  frame 0 
        TX packets 36473  bytes 8171233 (7.7 MiB) 
        TX errors 0  dropped 0 overruns 0  carrier 0  collisions 0 


